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CHIMIE / CHEMISTRY

1. Which, if any of the following structural formulas represents the same compound?
Lesquelles des structures suiventes représentent la méme substance ?

Structure | Strucrure 1

CH,= cl, —CH, CH, —C—CH,

CH, CH,
Structure 1] Structure iV
He /CH; CHyN ~CH,
C=cC > =C
o C N ,C=cC N
CH, H H H
a1 & b} i & v c) &N )i L &Y

d} none of the formulas represent identical compounds
Aucune des formules propese représente des substances identiques

2. Which of the following statements is correct about any chemical reaction that is at equilibrium?
Laquelle des affirmations suivantes concernant une réaction chimique en équilibre est vraie?

a) The molecules stop reacting / Les molécules saissent de réagir

b) Only side reactions continue; the main reaction stops /

Seule les reactions sécondaires continuent, la réaction principale saisse

c) Forward and backward reactions occur at equal rates /

Les réactions réversibles se passent a de toux équivedents

d} There are as many rmolecules of reactant as there are molecules of product

iy a aqutont de molécules réactonis que de molécules du produit

e] None of the above fAucune de ces réponses est juste

3. Areaction is spontaneous at all temperatures if the values of AH and AS have which signs?

Une réaction est sponianée a toutes les températures quand les valeurs de AH et AAS ont les signes
suivants.

A} Positive Negative
(B) Positive  Positive
[C} Megative  Megative
D) Megative  Positive

4. The solubility product K!s for Mg{OH); is 1.0x10™. What is the concentration of Mg2+ in a saturated
solution of this base? / Lo solubilité Ksp de Mg{OM}; est 1.0x10°™". Quelle sera ia concentration en ion

magnésium dons sa solution soturée ?
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R
B) Vi.ox10" M

©) V25x10™ m

D) Viox107" M

Ag'+e - Agls) E=40.80V
Cr'®+ 36 - Cr(s) E°-0.74 6

Based on the standard reduction potentials for chromium and silver: shocn above, what is the cell potential

for the reaction below? / Basé sur le i
potentiel standard de reduction du indi j
dessus, quel sera le potentiel de la reaction suivante? Pt slopmnteds

3Ag" +Cris} — 3 Agls) + Cr*
B {A) 0068V

{B) 154V

C) 186V

D) 3.14v

6. Liquids with molecules held together by Van der Waals forces have which of the following propertigs?

F.aqueﬂe dE.‘.'"p qpn’étés suivantes q ient @ gL lont | f
'3 ppartient a un liguide d 4 ié
: L] t les molécules sont lides par les forces de

;)} High solubilities in water / Grande solubilité dans Feau

High melting points/ Grand point de fusion ¢ Low boili i

figh ‘ oiling points/ Faible point d’ébulliti
d) Significant electrical conductivities in the solid phase / i
Une conductivité important en phase solide

e} Heat up very easily/ Chauffage rapide

2 Plarmi la verrerie ci-dessous une seule est utilisée pour la mesure des volumes laquelle :

Wh{c'h of the following vessel is used for volumetric measurements. i -

a) P:_pette * b) E.rlen Meyer;  c) bécher; d) Ballon rodé ; e) Aucune réponse est juste.

o} pipet,; ' b) Erlenmeyer ; c) beakers; d) Florence flask e) none of the above

‘,B' On veut prélever avec la nmrlif}ure précision pessible 3ml de liquide contenu dans un bécher, lequel des
instruments de verrerie est le mieux indiqué / Which of the following material is more adapre;f for the
measurement of 3 mi of liquid with the maximum accuracy:

a} Burette de 50 ml graduée en 0,10 ml ; b} cylind i i

] 5 ; bj cylindre graduée en 0,01 ml ; ¢} pipette de 2 m! 2
mi ; d) burette de 10 ml graduée en 0,02mi; e} Aucune réponse est justa.p ? Freduceen ooz
::;J;un:;t: of .50 mil maximum m_fmci!y with graduation of 0.10 mi ; b} graduated cylinder of 1mi capacity
{ g uatton of 0.01 mi; ¢} pipet de of 2 mi capacity with graduation of 0.02 mi ; d) buret of 10 mi

with graduation of 0.02mi ; e) nane of the above. ’

9. L‘? produit majoritaire de 'addition de HBr sur le 1 buténe est /

Which of the following is produced in reiatively higher guantities when HB is added to 1 butane

a) CHy-CHBr-CHBr-CHy ; b) CHy-CHBI-CH,-CH; ; ¢ CHyBr-CHy- CHy-CH ; d) CH,Br-CH,- CHBr-CHs ;
€) Aucune réponse est justa/ None of the above h

10.- Le composé majoritaire de 'oxydation ménagé

g¢ de CH3CH,CH,OH avec distillation du produit final
T;‘z; :'gfn products of the exydation of CH;CH,CH,OH with distillation is ’ netes/
a) CHsCH,CHO ;. b) CH3CH,COOH ; ¢} CHCH,CH,OH ; d} mél:
. : 2OH ; } mélange CH,CH :

Aucune réponse est juste/ None of the above e CINCILERO et CRCH.Co0H 2)

WWWtOUSl eS(wonCOlal[Sal rm: Q,SG ml of octane, CgHyg, is burned completely and the reaction products are brought to 20°C

and 1 atm, the products include approximately

Les produits de la combustion compléte de 0,50 mi d’octane refroidit & 20°C et 1 atm incluent
a) 18 mol H;0 b} 100LCO; ¢}200LCO; d) 220 L of water vapor {vapeur d’eau)

e} 230 L of water vapor {vapeur d’eou)

12. Temperature is a measure of: La temperature est une mésure de

a) total kinetic energy of molecules / I'énergie cinétique totale des molécules

b) total potential energy of molecules / [énergie potentielle des molécules

c) average potential energy of molecules / le moyenne d’énergie potentielie des molécules

dj average kinetic energy of molecuies / la moyenne de I'énergie cinétique des molécules

e} None of the above [ Aucune réponse est juste.

13. Which of the foilowing ions CANNOT be fermed in aqueous solutions by reacting an acid of appropriate
concentrations with a metal? /Lesquels de ces ions ne peuvent pas étre former en solution agueuse suite &
une réaction d'un acide & une conceniration appropriée cvec un métal 7

a)zntt b} Fe** c) Fe™ djcu’ e} cu®*

14. Which of these elements, when combined with hydrogen, forms a complex anion which is widely used :
as a reducing agent? [ Lequel de ces métaux combiné avec Phydrogéne forme un complexe qui sert

comme un agent réducteur ? a) sodium b) Aluminium ¢} Silicon d) Sulphur e} Chlorine
15. Which of the following isfare polar? / Le ou lesquels des molecules suivantes est/sant polaire(s)

I. CHzCly . CHCl3 1. CClg
a)l, i &ii byi &l cjH &N dii el

16. Le pKa de Vacide benzoique est de 4,20. Le pH de la solution obtenue en mélangeant 10 ml benzoigque
0,10M et 0,10 ml de NaOH 0,05M est : / The pKa of benzoic acid is 4.20. What is the pH of a mixture of 10
mi of 0.10M benzoic acid and (.10 mi of 0.05M NaOH a) basique/basic b) acide/acidic

c) neutre / nevtral d} dépend de la température/ it depends on the temperature

) Aucuné réponse est juste/ None of the above is correct

18.- Le pKa de P'acide acétique est de 4,75. La solution obtenue en mélangeant 10 ml acétate de sodium et
0,05 M et 5 ml d"acide sulfurique est:/ The pKa of acetic acid is 4.75. A mixture of 10 ml of sodium acetate
with 5 mi of 0.05 M of sulfuric acid produces a solution that is

ajbasique/ basic b) acide/ acidic c) neutre/neutrai

d) cadépend de la température/ it depends on the temperature

e) Aucline réponse est juste/None of the above is correct

19.- Le pKa de |'acide acétique est de 4,75. La sclution oblenue en meélangeant 10 ml acétate de sodium et
0,05 M et 2 mi d'acide sulfurique est ©

The pKo of acetic acid is 4.75. A mixture of 10 mi of sodium gcetate with 2 ml of 0.05 M of sulfuric ecid
produces @ solution that is

a) basique/ basic bY acide/ acidic ¢) neutre/neutral

d} ca dépend de la température/ it depends on the temperature

e) Aucune réponse est juste/None of the above is correct

20.- Les pKa de I'acide oxaliqué {Hs€;04) sont respectivement de pKa;=1,25 et pKa,=4,30. Le pH de la
solution guand on mélange 10 mi acide oxalique 0,02 M et 19 mi de NaOH 0,02 M est de :

The pKas of oxalic acid are pKa,=1,25 et pKa;=4,30 respectively . What will be the pH of the mixture of
10mi of 0.02M oxalic acid with 10mi 0 0.02 M NoGH :

aj1,25%; b)4,30; c)2,78; d)3,05;

£) Aucune réponse est juste / None of the above is correct



1-les pKa de "acide oxali 13C. tres = ¢ o=, VMVVUV.I(" I:j(!i
2 Gue (h 04 50N pectivem a 1,25 e 30. 1
2% } ctivement d pKa; t phaz—‘i, Q. Le pH d

solution quang onm e 10 ml acide oxal{que 0,02 M et 20 m NaOH 0,02 M est e:
d élang A & I de 2 d
v 5

The pKas of oxalic acid
are pKa;=1,25 et pKa,=4,30 respecti i

;;J;n; ;f 0.02M oxalic acid with 20mf o 0.02 M NaOH : fVE":}-l"‘Z"gf' - bzt’:e o TR
blf ,Les.pk p !e} Aucune réponse est juste / None of the above is ;crr,ect e e

- a de Vacide oxaligue (H,C,04) sont res, i

L ; pectivement de pKa,= =
;‘c;:gin quand on mélange 10 ml acide oxalique 0,02M et 10 m} ge r;aé’ji}eélﬁt_:fo- pLich

s o] ? i = ¢ . ;
f oxalic acid are pKa,=1,25 et pKa,=4,30 respectively . What will be the p:‘ of the mi,
€ mixture of

;L‘g:! of 0.02M oxalic acid with 10mi o 0.01 M NaOH a)1,25;
.05 e) Aucune réponse n’est juste / None of the above is oorrec‘t ' Y T
#

23.-le i —_

P"écipitzrz:lg:edrii;?;?gltj.de Agf et Agll sont _respectivement de 8_319” et 1,8.10™ U'halogé ;

est/ The Pmductofm;,;;q,-fn ajiuie une so!u‘tlon de Ag’ a un mélange en l:ont:entrati-on égaf&e;!ui‘e qmr

will be precipitated in th 4 Df; al ?ﬂd ilgcf';g respectively8,3.107 et 18407, Which of the f;:r_: erct

mixture of [ and CT' ? alef; f e ff‘:}f::‘é;oﬂ Of]T solution containing Ag+ Is added to &n equc:wmg

d) dé : * ;) les deux en mé E

j; :Ziﬁ:z f;pl{:nzoz;:e‘n‘tra_tion de la solution de Ag”/ it dependtsno:ifrz'er;i!rgﬁjtiabr?r:h ® e e nm
e est juste /None of the above is correct n of~Ag+

24) La quantité maximat i

) antite ale de Pbi; qui peut se dissoudre dans 1L d’

e e 2 GUI peut se dissoudre dans 1L d’eau est de 0,0012 J
e f l:.I7 est dL‘ ,_,:"' The maximum quantity of Pbl,that con dissolve in 1 lit e ﬂrﬂd_uh )
d} ﬁ.a{_} 7125 the solubility product of Phi; ? 2)1,20.10%; b) 1"14 -10::6 % ““"‘"W""s E-wﬂ
1} 2,40.1077; e} Aucune réponse est juste/ None of the above is :omzu.:t AT 830107

25.- L{;rsqu on ajoute u i de - =
H 2lect Ol'yt Veau, la ten superficielle de I'eau When an electroiyte is
n aj e uneg T edde N *NsSIon sup rficielle de y‘f
b : € surjace tensioni of water a} e Cha‘]ﬁ(- par,'} dOEanﬂf hsnge
J augmente/ increases ! inu ases P[)P.Flt.i d : ege ‘Ct:‘o‘ te/ depends h
ea. H c) diminu e/decre d] d o on t
J ’ i u typ: d'éle Y D e
t. e ofejeﬂm}yte, E} Aucune reponse est U‘J[E}J Non Of the above is carrect {

26.- Lorsqu’ ji i if & "
. ;:{u o_n ajout_e un tensioactif a de I'eau, la tension superficielle de I'eau
} : ension active substance is added to water, its surface tension :
a) ne chan : : e
i eiz TS/ doesls?or change b} augmente/ increases : ¢} diminue/d\ 2
‘ A P ; utype d'électrolyte/ depends on the type of electrolyte : e
ucune réponse est juste/ Non of the above is correct. r

27.- Lorsqu’on ajoute un : i
composé organique & courte chai f
i ’ 0 ; chaine a de I'eau, la tension s icielle g
o : ashorf ch;:r: organic substance is odded to water ,the surface tension of th; !::TC“?”- e tea
change pas/ does not change b} au, i -

: ] " gmente/ increases ; c) dimi re :

; ca depem’d du type d'électrolyte/ depends on the type of electrolyte ; Jomnefgesases:
e} Aucune réponse est juste/ Non of the above is correct e

28- f j X

Wh;o:;;ﬁt:f;f:run :o!ute & un scivant la température d'ébullition du sclvant -

s e ing temperature of a solvent when a solute is added to it ?
ange pas/ it does not chonge;  h) augmente fincreases;

d) le sens de variation dépend du rapport soluté/solvant E

the change in temperatue will depends on the solute/solvent ratio:

e} Aucune réponse est juste / None of the above is ro_;'recr e

c} diminue/decreases ;

29.- Lorsgu’on aj iy
il M}il;:hr:uoute un soluté a un solvant la température de fusion du solvant
e temperature of fusion of a solvent when a solute is added to fr-?

4

“oncours.info

a} ne change pas/ it does not change ; b} augmente fincreases; ¢} diminue/decreases ;

d) le sens de variation dépend du rapport soluté/salvant
the ch in t atue will depends on the solute/solvent ratio;

e} Aucune réponse est juste / None of the above is correct

30.- On distille un meélange eau — éthanol ayant la composition de {'azéotrope, le temps nécessaire pour

avoir de 'alcool pur en téte de colonne est de:
When & mixture of water and alcoho! having an zeotropic compos

necessary to obtain pure alcohol ot the top of the colon ?
alsh; bysh: cj¢a dépend de la hauteur de la colonne / it depends on the height of the colon

d) dépend de la quantité initiate du mélange / it depends on the original amount of the mixture
) Aucune répanse est juste/ None of the above is correct

ition is distilled, what time wifl be

31.- Le CaC,0, est plus soluble dans CaC,0, is most soluble in
a} V'eau pur : pure water b solution aqueuse de Ca™ /Aqueous soluion of
¢) solution agueuse de Na' / Aqueous solution of Ma®  d) solution agueuse de K' / Agueous solution of K

e) Aucune réponse n'est juste/ None of the above is correct

32 - Le produit de solubilité de 'oxalate de calcium est de 2,3.10", On ajoute sans variation de volume des
ions oxalates dans un solvant 0,002ZM de calcium, dans quel cas aura-t-on une précipitation.

The solubility product of calcium owalate is. If the same volume of oxalate ions are added to 0.002 M
solution of calcium, when will a precipitate form?

a} lorsqu’on ajoute 107 mol de C;04™ ; when 107 moi de C,0, is added

b} forsqu’on ajoute 10°%° mol de C,04 ; when 10%° mol de C,0, is added

c} lorsgu’on ajoute 10" mol de C;04; when 10° mol de C;0,4" is added

d) lorsqu’on ajoute 10 moi de G0, ; when 107 5 moli de C,0,4 is added

&) Aucune réponse est juste./ None of the above is correct

33.- 13 force électromotrice de la cellule électrochimigue Hg, "{za) + Halg) < 2Hg(l) + 21 {ag) est de
0,650. Le travail électrique maximurr: généré par ia cellule lorsque 0,250 mol de H; est consommé est de:/
Given that the electramotive force of the electrochemical cell Hg, '{ag) + Hig) 2Hg(i) + 24" (ag)} is
0.65. What will be the maximum amount of electrical work will be performed when 0.25 mol of
Hydrogen is consumed ? a)52,i0mi; b)30241;  ¢17.5mk d} 3,00.10" ;5

) Aucune réponse est juste/None of the above

34 -Les potentialsd électrode des couples redox Zn*/Zn et Fe¥*/Fe’” sunt respectivement de -0,76 Vet0,77
V. Le sens d'évolution de la réaction 7n*(agl+2 re¥{ag) &> Infs)+ 2Fe?"(aq) est : Given that the
electrode potential of a the redox couple Zn®*/Zn et 2H'/H, are respectively 0,76 V and 0,00 V. What
will be the direction of the reaction Zn""(aq) +2 Fe*{aq} <> Zn(s)+ 2Fe”(aq:

a) de gauche a droite {from feft to right)

b} de droite & gauche {from right to left)

c} un équilibre {equilibrium);

d) ¢a dépend des concentrationsde n’
e) Aucune réponse est juste.(None of the above is correct)

* ot Fe' (it depends on the concentration of Zn™ et Fe™

35, Les potentiels d’électrode des couples redox Zn**/Zn et 2H'/H; sont respectivement de -0,76 Vet 0,00

V. La variation d’enthalpie fibre ctandard de cette réaction est de :

Given that the electrode potential of @ the redox couple Zn""/Zn et 2H'/H; are respectively -0,76 Vand
0,00 V. What wiil be the variation in free enthalpy of the reaction in guestion 34.

a}-33800) b} 3380C! 0)-1,5.10°%;  d)1,5.10% e) Aucune réponse est juste.

5




WWWtOUSl eSCOI’]COUI’S'.Imfe(Bmperw of a buffer solution, prepared from a weak acid and its sodium salt, is that

36. Le NaCl cristallise dans le systéme cubique face centré. La coordinance des ions Na® CI est
If Sodium Chloride crystals in a cubic system format. What is are the coordinates of Na* ¢
a) 8/8; b)6/6 ¢)3/4; d)2/2 e] Aucune réponse est juste/None of the above

37. A solid that sublimes on heating is
Lagquelle des substances suivantes sublime au cours du chauffoge?
a) Nacl b) Cu;50s4 ¢} PbS0s  d) (NHg)2505 e} None of the above/ Aucune réponse est juste.

a) 6 electrons, 6 protons, 6 neutrons b} 6 electrons, 12 profons, 6 neutrons
c)12 electrons, 6 protons, 6 neutrans d) 18 electrons, 6 protons;nd 6 electrons
e} None of the above/ Aucune réponse est juste.

QUESTIONS 39 - 43

These questions involve five different types of bonding. Which of the following bonding types accounts for
each of the phenomena named. Ces questions concernent les 5 différents types de liisons. identifier le
type de liaison impliqué dans chaque phénoméne

39. The melting of halogens decease as you go up the group from iodine to fluorine/ Le poinide fusion des
composes halogéniques decroit de I'iode au fluor sur le tableau périodigue.

a} ionic bonds/ Liaisons icniques b} hydrogen bonds /ligisons hydrogénes

¢} dative covalent bonding / liaisons covalentes d)dipole-dipole interactions / interactions dipole-dipéle
e} Van de Waals’ forces / forces de Van de Waals

40. Silver chioride {AgC!) dissolves in ammonia solution /

La dissoiution de AgCl dans une solution d’ammonioque

a}ionic bonds/ Ligisons joniques b} hydrogen bonds fifaisons hydrogénes

¢} dative covalent bonding / fisisons covalentes

d}dipole-dipole interactions / interactions dipdle-dipdle

2) Van de Waals' forces / forces de Van de Waals

41. Ammonia {NH3) reacts with boron trifluoride (BF3) /La réaction de Fammoniaque avec BF3
a) ionic bonds/ Liaisons feniques

¢} dative covalent bonding / liaisons covalentes
djdipole-dipole interactions / interactions dipéle-dipélz
el Van de Waals' forces / forces de Van de Waals

b) hydrogen bonds /lisisons hydrogénes

42 Phosphine {PHs} has a lower boiling point than ammonia (NHs}/ Le paint d'&bullition de fa phosphine
est plus faible que celui de Fammoniague

a) lenic hands/ Liaisons ionigues

b} hydrogen bonds /ligisons hydrogénes

c} dative covalent bonding / liaisons covalentes

d)dipole-dipole interactions / interactions dipéle-dipéle

e} Van de Waals' forces / forces de Van de Waols

43. Ethoxyathans boils at a lower temperature than butan-1-of

La temperature d’ébullition d'Ethoxy-cthane est plus faible que celle du butane-i-ol

a) ionic bonds/ Liaisons jonigues b) hydrogen bonds /liaisons hydrogénes

¢} dative covalent bonding / liaisons covalentes  d)dipole-dipole interactions / interoctions dipéle-dipsie
e) Van de Waals’ forces / forces de Van de Waals

Leque! des affirmations suivantes est une propriété d’une solution tampon obtenu @ partir d’un acide
faible et son sel sodigue
a) its pH is less than the pH of the original acid / Son pH est faible par rapport & celui de Pacide original.
bj its pH is unaffected by the addition any quantity of hydrogen ions/
Son pH =st n'est pas influencé par une quantité additionneile d'ions hydrogénes
c) Its pH is unaffected by the addition of any quantity of hydroxide ions/
Son pH est n’est pas influencé par une quantité additionnelle d'ions hydroxides
d} its pH is greater than the pH of the original acid/
son pH est plus grand gue celui de Facide original. ejithasapHof 7/ HaunpHde 7
45. The half-life of radioactive Palladium -233 is 28 days; How many days will it take for the radioactivity to
fall to one eighth of the initial value? / La demi-vie de la radio activité de Palladium -233 est de 28 jours.
Combien de temps fout-il pour que cette radivactivité chute au huitieme de sa valeur initial?

a) 84 b) 28 c) 112 d) 56 el 35

46. In which one of the following pairs is the species with the larger radius placed first?
Parmi les paires des espéces ioniques suivantes, identifier celles dont fe premier ion & un plus grond
rayon por rapport au second  a) Fe”, Fe®  b)0,S Lo djioy, Bros e} L', F

47. Which of the following statements is not applicable to carbon compounds ?

Laguelle des affirmations suivantes n'est pas applicable aux substances carbonigues ?

a} They have low melting and boiling points / lis ont de faibles points de fusion et d'ébullition

b} They are ionic in nature / lls ont un caractére ionigue

¢} They form homologaous series [flls forment une série homologue

d} They are generally soluble in organic solvents / !is sont générallement soluble dans les solvants
organiques e} None of the above / Aucuné réponse juste

48. The formation of lead and bromine from lead bromide is an example of / La formation du plombe et du
bromure a partir du bromure de plomb est un exemple

a) decornposition reaction /d’une réaction de décomposition

b).synthesis reaction /d'une réaction de synthése

¢} displacement reaction /d‘une réaction de déplacement

d} neutralization reaction / d'une reaction de neutralisation

&) Net‘enough information is given to determine the answer./

Les inférmations données sont insufiisantes pour déterminer la réponse

49, An element has an electronic configuration: 2, 8, 7. lts valency is:/
La valence d’un éiément qui o une configuration: 2, 3, 7 est:
a1 b} 7 c)17 dj 8 el 4

50. Le produit majoritairedde 'addition de HBr sur le CH;CH=CH; est :

The main product formed fram the addition of HBr to CH3CH=CH; is

a} le bromo 1 propane / bromo 1 propane b} le bromo 2 propane / bromo 2 progane

¢} le dibromao 1-2 propane / dibromg 1 -Z propane d}- le dibromo 1-1 propane / dibromo 1-1 propane
¢} Aucune réponse est juste [ None of the above
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51. Which of the following statemants is not true of Carbohydrates?
2. The ratio of hydrogen is twice that of carbon and oxygen -
b. Their most basic form are monosaccharides
c. The basic forms can combine among themselves
d. lactose is not an oligosaccharide
. Raffinose is not a polysaccharide
Laquelle des affirmations suivantes relatives aux glucides est fausse ?
o. Le ratio d'hydrogéne est deux fois ceux de carbone et d“oxrg‘éne
b. Leurs formes les plus simples sont les monosoccharides
¢. Les formes simples peuvent réogir entres elles
d. Le loctese n'est pas un oligesaccharide ’
e.' Le Raffinose n'est pas un polysacchoride
52. Which of the following disaccharides can be readily cbtained by direct hvdro’l is of ?
2. Sucrose b, Maltose c. Trehaiose d. lactose e ;Jleiib' o 5 staeend
Lequel de disaccharides suivants est obtenu per hydrolyse directé de J’n::?:m?

a. Sacc Mal hal
53, Whi’c’r:f’if:e fuii:v;ring carboh . T —— B ¢
ydrates is least sweet?
~ @ Sucrose b, Lactose ¢. Glucose d. Maltose &. Fruct
Lequel de glucides suivants est le moins sucré e
a. Sucrose b. Lactose ¢. Glucose d. Maitose e. Fructose

54. Which of the following statements is not true of Glycogen?
. Glycogen is the polymeric form of glucose found in ar-aimai tissues
- Glycogen is formed by glycogenesis
Glycogen is structuraily similar to amylopecting
- Glycogen is structurally similar to amylose
Gry::agen is easily converted back to glucose to provide energy
R des frfﬁru- 1 niest pas vraie par rapport au Glycogéne ?
. g ytogt"ne est la forme polymérique du glucose dans les tissus animausx
. Le glycogéne est formé par lo glycogénése
‘ iz g::zg?ne est d'une siructure sembiable & ceile de Famylopectine
i :M og;:: ::: ;:;:;;: structure semblfub.‘e & celle de Famylose
55. Which of the faliowing state!:;::sr?scgz:r::l:;e e el e e

: RNA contains a pentose sugar molecule
. The molecular weight of the pentose sugar molecule of DNA is smaller than that of RNA

RDEpRSDan oW

c. In RNA
2 : DN:, tt:e E.‘; hydrogen atom of the pentose sugar moleculs is replaced with nuclectide bases.
A, the C1 hvdroxy! group of the pentose sugar molecule is replaced with nucleotide baﬂesl

e. In RNA, the C1 hydroxyl
vl group of the pentose sugar molecule is i wi
. t 3 repia i
iaql{eﬂe des affirmations suivantes est fausse 7 PRttt st
a. L'ARN contient un sucre peniose
f‘ E‘i po;'t‘a‘: moléculaire di sucre pentose de PADN est moins que celui de PARN
a; m: M:;N, I’hyt::ragene du Cldu sucre pentose est remplocé par les bases nucléotides
P. f,i;e;- mﬂ:, Fhydroxyle du Cldu sucre pentose est remplacé par les bases nucléotides
" wHKh Df‘t o l, r’h_yaﬁ-axy!e du CIffu sucre pentose est remplacé par les bases nucléotides
W o e _ollo\_mng statements is not true of proteins synthesis?
; y e il!furnl':atmn required to replicate a protein molecule resides in the genome
. The genetic material exists in coded form in DNA
. The code is copied durin i i
i g the synthesis of ribonucleic acid (RNA ipth
e atid {RNA) by the process of transcription
e, Transcription precedes transiation
Logueil 5 i iva:
GQLLT-'; des affirmations suiva:iites n'est pas vroie par rapport & lo synthése des protéines 7
. Uinformation nécesseire pour lo répliicotion o4 21
mation nécs e p Y une protéine se trovve ou nive S
b. Le matériel génétique réside sous forme codé au niveau de FADN e génome
: Le code est.copié lors de la synthése de “ARN por lo transcription
- La Tronslation précéde la Transcription

WWW.toUS €ScoNCours,inf0.,...ion précede to rransiosion

57. Which of the following is not true of Mucleic acids?

S —

58, The base represented by the structure above is:

58.

60.

61.

§2. The fibosomal RNA represents roughly:

63.

64.

65.

66.

They are weakly acidic

They are strongly acidic

Their nucleotides are weak bases

Their nucleatides contain phosphoryl groups

Thay constitute the 4™ major class of biomolecules
quelle des affirmations sul n'est pas vraie par FOSEOT auX ecides nucleiques?
ils sant des acides faibles

fis sunt des acides forts

Leurs nuciéciidas sont des bases foibles

Leurs nucléotides coniiznnent des groupes phosphoryls
His constituent la deme classe mojeure des biomolecwles

v
i

J\
N TNH
<
1{\‘1 NT TNH,

- m a0 oW

e 0

moan

a. 2-Aminp-6-oxopuring b. 6- Aminopuring ¢. 2, 4-Dinxopyrimidine

d. 2-oxo-4-aminopyrimidine e} 5-Methyluracit
La base que représente g structure ci-dessus est:

a. Z-Amino-6-oxopurine b, 6- Aminopurine
4. 2-oxo-d-pminopyrimidine 2] 5-Methyluracit

The diameter of the DA helix is roughly / Le aiamétre appraximatif d’un hélix de VAND c'est
s 10A b.20A c30A d.40A e 50A

The distance separating base paires in the DNA helix is roughly:

La distence qui sépare les pairs de buses dans Fhélin de FAND g5t approximetivement;

a 9.6  b.74A c.5.0A d.3.44 A 14h

The number of base pair per turn of the DNA helix is roughly:

Le nombre des paires de base par tour de Phéiix de I"AND est approximativement:

a. 2bp b, dbp 10k

¢. 2,4-Nigxopyrimidine

<. Bbp d. 8bp €. i0up

a  R0% of cellular RNA b. 15% of ceilular RMA. . 3% of celluiar RNA d. 2% of celiular RHA
2 0.2% of cellular RNA
LARN rib | repeé pproxi :
4. 80% de PARN cellulaire b, 15% dz PARN ceiluigirec. 3% de I"ARMN cellufaire
o 2% de VARN celluiaire e. 0,2% de FARN cellulaire
The fale of the small RNA in protein synthesis is:

a. Translation b. Transcription c. Site of synthesis
the preceding answeys is correct

Le rile du petite ARN fors de la synihése de protéines c'est:
a. Translation b, Franscription c. Site de synthesis
reponse esi juste

An autotroph derives its carbon from:

a. One or mare organic molecules . b. Carbon dioxide

d. light &. Noné of the preceding answers is correct.

ies outrotrophes obtiennent feur carbone de:

o. Une ou plusieurs molécules organiques b. €O,

b. ¢ Composes chimigues dohumiére e. rien de ce qui précéde
Which of the following is not an energy generating process?

a. Respiration b. Fermentation ¢ Transport of nutrients /| Trensport de nutrients
d. Photasynthesis / Photosynthése

b. Mone of the preceding answers is correct/ Rien de ce qui précéde

Which of the following is not an energy tonsuming process?

d. Poss-transcriptional modification e None of

d. Medification Post-transcriptionale e. Aucun2

¢. Chemical compounds

2




67.

oP oW

Biosynthesis / La biosynthése  b. Photosynthesis / Lo photosynthész

. Transport of nutrients / Le transport de nutriments
. Cellular movements [ Les movement cellulaires

None of the preceding answers is correct/ Rien de ce qui précéde.
Which of following is not true of viruses in comparison to bacteria?

. They cannot be observed using a light microscope

They have no internal celiular structure

. They are incapable of replication unless occupying living host cell
. They are capable of metabolism
B,

Individuals show no increase of in size

taquelle des affirmations suivantes n'est vraie pour les virus en cormparaison aux bactéries ?

68.

69:

70.

71.

72

74,

a
b.
€.
d.
e,

On ne parvient pas 3 les visualiser sous microscope iumiére

ils n'ont pas une structure cellulaire interne

Ne sont capable de se répliquer que dans une cellule hote 4
sont capable de métaboliser

Ne change pas en taille

The Ascomycota and the Basidiomycota are sometimes termed:

2

Les Ascomycotae et Basidiomycotae sont parfois nommés:
Lower fungi / Les maisissures inférieures

Higher fungi/ Les moisissures supérieures

Mid fungi / Les moisissures moyennes

. Protists / Les Protistes

None of the preceding answers is correct. / Rien de ce qui précéde

Which of the following is not a sterilization method?

Laguelle des applications suivantes nest pas une méthode de stérilisation?
a. Use of ethylene oxide gas / Lutilisation du goz de Poxyde éthyléne
b. Membrane filtration / Filtration sur membrane
c. irradiation / L'irradiation
d. Heating in an autoclave / L"autoclavage
a. Use of chigrine / Chlarination
Which of the following microbial associations causes harm to one of the partners?
Laquelie des associations microbiennes suivantes est nuisible & Fun des partenaires
a. Mutualism / Le mutualisme
b. Commensalism /Le Commensalisme
c. Parasitism [Le Parasitisrme
d. Nane of the preceding answers is carrect./ Rien de ce qui précéde

The Nitrogen Cycle
Which of the reactions in the Nitrogen Cycle above is a minerglizotion process?
Loguelle des réactions du cycle d'azoie ci-dessus est un processus de minéralisation ?

a2 b. 4 c.5 d.3 e.7

Which of the reactions in the Nitrogen Cycle above is a nitrification process?

Laguelle des réactions du cycle d'ozote ci-dessus est un processus de minérafisation ?

a. 4 alone (seule}b. 5 alone (seule)c. 485 d. 8 el

which of the reactions in the Nitregen Cycie above s a denitrification process?

Laguelle des réoctions du cycle d’Gzote ci-dessus est un processus de dénitrification ?
a.1 b.3 c5 d.6 e.7

Which of the reactions in the Nitrogen Cycle above is a Nitrogen fixation process?
Laquelle des réactions du cycle d'azote ci-dessus est un processus de fixation de lazote ?

10
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76.

i

78.
79.
a0.
81.
_ 82.
\
J

83,

85.

86.

a.l b.2 €3 d.4 e5
ich of the reactions in the Nitrogen Cycle above is a Nitrate reducing process?
welle des réactions du cycle d'azote ci-dessus est un processus de réduction de nitrate?
b.¥ c6 d.5 e d
Which of the following foods is chtained by microbial activity?
Lequel d’aliments suivants est ohtenu par voie d’activité microbienne?
a. beer / La biére b. Bread/Le pain . Yoghurt /Le yaourt
d. Vinegar / Le vinaigre  e. All of the above/ Tout ce qui précéde
which of the following is not true of Protein Structure?
a. Every protein has a three-dimensional structure that reflects its function
b. Hydrophobic interactions are the major contributors to stabilizing the globular form of most proteins
¢. Hydrogen bonds and ionic interactions are optimized in the specific structures that are thermodynamically
most stable
d. The nature of covalent bonds in the polypeptide backbone places no constraints on structure
. The peptide bond has a partial double-bond peptide character that keeps the entire six-atom peptide group
in a rigid planar configuration
Laguelle des affirmati es n'est pas vraie pour fa synthése de protéines?
a. Chagque protéine a une structure tridi ses fonctions
b. Les interactions hydrophobes seraient les contributeurs majeurs de lo stabilisation de la forme globulaire _

a.B

it £
nelle ref

de la plupart des protéines

c. les lia hydrogénes et ionigues sont optil dans des structures spécifiques qui sont

thermody iq t fes plus b

d. La nature des liai: coval au il du squeleite polypeptidique n'induit oucune stresse sur o
structure

e. La finison peptidique aurait un caractére peptidique partie @ ble liaicon permettant au groupe
entierpeptidique @ six atomes de rester dans une configuration rigide et planaire
Which of the following functions is a functional group of proteins?
Laguelie des fonctions suivantes fait partie des fonctions des protéines?
a. Thioethers / Thio éthers b. Carboxamides / Carboxamides  c. Thiols / Thiols
d. Carboxylic acids [ Acides carboxyliques  e. All of the above / Tout ce qui précéde
Which of the following amino acids is the simplest?/ teguei des acides aminés suivants est le plus simple?
a. Alanine b. Glycine ¢. Phenylalanine d. Tryptophan e. Isoleucine
Which of the following amino acids is not essential?/ Legue! des acides n’est pas iel?
a. lsoleucine b. Leucine c. Serined. Methionie (Méthionine) e. Lysine
Which of the following naturally occurring fatty acids in animals has two double bonds?
Leque! d'acides gras naturels d'origine animal suivants ourait deux double fiaisons ?
a. Palmitate b. Stearate ¢, Arachidate d. Lionleate e. Linolenate
Which of the following is not true of membrane lipids?
Laguelle des affirmations suivantes n’est pas correcte par repport aux lipides membranaires?
They are amphipathic maolecules / Sont des molecules amphipathiiques
They contain a hydrophilic moiety / Contiennent une moitié hydrophile
THey contain a hydrophobic moiety / Contiennent une moitié hydrophobe
. They may-contain phosphatidyl choline / Peuvent contenir du phosphatidyle choline
e. Nonelof the preceding statements is true / Rien de ce quf précéde
The protein components of a membrane can be readily visualized by:
Les composants protéiques d’une membrane cytoplasmique peuvent étre visualisés par :
a. SD5-polyacrylamide gel electrophoresis / Gel électrophorétique SDS-polyacrylomide
b. Solting out/Salting in / Relargage c. Dialysis /Dialyse
d. Acid precipitation / Précipitetion e. Centrifugation
What is the concentration of H'in a solution of 0.1 M NaOH?
Quelle est la cancentration de H+ en solution de 0,1 M NaOH
a. 107 m b. 10" M c10™ M d. 10" m e. 10 M
What is the concentration of OH in asolution with an H™ concentration of 1.3 x 0% m
Quelle est lo concentration en O en présence de 1.3 x 107 M, de H' dans une sofution ?
a 71x10°M b 77x10°M < 82x10°M d.85x107M e 77x107'M
which of the following products is most acid? /
Lequel des produits sulvants est le plus acide?

o n s

a. Egg white / fe blane d’ceuf
11
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i i . Human tears / Les iormes humain d. Human blood /Le sang humain PHYSIQUE/PHYSICS
b. Saliva / ia Sa ve : ) 51. if the resistance of an incandescent light bulb changes as the voltage across the bulb is changed, which of the
e e“’ft:: ;ill.fnwing products is most basic? / Leque/ des produits sulvants est le plus acide? ful!owir!g is true? /Sup; que la résistance d'une empoule incandescente varie avec fa tension, laguelle des
87. \:l'::: :rater  lesonae b. Egge White /Le blanc d'euf affirmations suivantes est vraie?

¢. Household bleach / Eau de jovelle  d. Saliva [ La safive
blood / Le sang humaine ) ) . e
ei HE:Frml‘:srna is buffered in part by the system consisting of - /Le Plasmu .s_angum:' esten pu_me tampo
o i Iepcauple . a MO/ CO boRGYCL ¢. CH;COOH fCH,C00" d. HyC05f HCOy
gl  preceed i i précede
e. None of the preceeding / Rien de ce qui prece # . . .
89 The endpoint of Lactate fermentation is:/ Le produit final de ;‘a mtmon J:c;'fuffaw
. Etf C . ACER . propionate
i vate b. Ethanal c. CO,y ) _
90, :‘J:ifl:lof the following products is not as a result of the divers fates ?i Pyruyate ohEaineij. :t, —
. the end of Glycolysis? / Lequel de produits suivants ne résulte pas d’undes sorts réserve
de o glycolyse 7 a. Ethanol b. Lactate ¢. Acetate d. Acetyl€Co A e. CO;
i takes place in the: / Lo giycolyse s’opére dans '
" gl\::c;r::; f!ie cyl:nsof b. Mitochondria /La mitocondrie
cl Ribosome / le ribosome d. Nucleus / fe Noyau
e. Endoplasmic reticulum fLe reticulum endoplasm:que_ ) :
92 The conversion of glucose into pyruvate during glycalysis is made up of:
- La conversion du glucose en pyruvate lors de lu glycolyse ;nn;p;r::: 3
i Sactit ctions / 1 ions
ions [ 6 réoctions b. 10 rea 107 ) \
:- i;‘:::itlons / 11 réactions d. 12 reactions / 12 réoactions e 4 rgmmn; £ f réactions
93 H‘0w many of the reactions in the energy consuming phase of givco%ys:s are jsom?nzdat;on oeni sl
. reactions? [ Combine des réactions dans la phase de consommation de Fénergie de ia glycol
ions d' 2 risoti 3 d. 4 e5
actions d'isomérisation 7 a.1 b2 L es ) )
94, \uré'\;'htch of the following molecules does not serve as an entering site tif glucogenic fmrzdes —
. acids? / Laquelie de molécules suivantes ne sert pas comme porte d'entrée pour les
igues 7
:Tﬁi:;:u b. Succinyi-Co A . Oxaloacetate d. a-ketoglutarate  e. Ethanol
hi ing i i ino acid
; Which of the following is not a glucogenic am . ) s
= Laguelie de molécules suivantes n’est pas un acide am.‘r{e gmcogenlique, ;
a. Lusineb. Methionine {Méthionine] ¢. Phenylalanie d. Alanine e. Valine
: lation gluconeogenesis is:
96. One af the key enzymes regu _ .
Hune des enzymes ciés aui régulent ia gluconéogénése est: :
a. Pyruvate kinase . Hexokinase £/ a"vruv.ate ca..rboxy alse v
r:i- Creatine kinase . None of the above enzymes / Riend_ ¢ ece qui precéde
97 \ﬂ;fhich of the following molecules is the main product of tl.'ve acr_:nn of g;amt.:las: on ytase sur Vamylose?
- amylose? Laquelle des maolécules suivantes est le produit majeur de I'action de B-awn

a. Glucosa b. Maltose ¢. Fructose d. Galactose e. Sucrose
ag. Which of the following is not capable of oxidizing glucosi?
Lequel des produits suivants ne peut oxyder le glucose '
a. Cu2+ b. Fed+ { = Giucr:_se oxidase ) )
d. Glucose isomerase €. None of ine abo\rel / Riend de ce qui prlécedf: _
949, The Kin which best expresses the preatast affinity of an e,nzvme for its suibst is:
Lo e e caai i _ a0 We
a. . hy

. . -1 . -1 2 rate
0 cuppose the Km of an enzyme is 2 x 107 #i. If the rate of reaction is 5 pmoles x litre " x min " ata substra
100. “upp il / '
i = i | rate of the enzyme reaction.
2 %10~ M. Estimate the maximal action. ) i
CDncentr;:O:: :e ;m de 2 x 10 % M pour une enzyme. La vitesse de {a réaction & une concenrmfmn‘ en substr
Un;_ﬂ ffv: e:t 5 pmoles x litre "x mir™". On vous demande d’estimer la vitesse mrmr?a-'e_ ;!e fa réaction.
& a2 a.5pmeles x litre "xmin® b, 10 pmoles x litre “x min;1 < 15 pmeoles x fitre ~x min
b. 420 umoles x litre "x min™ &) 25 umoles % litre "x min

i2

a} The internal inductance of the bulb causes this change/

Cette variation est due serait due o Finductance interne

b} The bulb is said to have a low fonization potential/ Pénergie d'ionisation de cette ampoule est faible
c} The bulb has constant resistance as the current through the bul

Ib is changed
le courant traversant 'empoule n'aurait aucune i 3il € SUr sa résistance

d} The change can be eliminated or 2t least minimized if two of these bulbs are arranged in series
Cette variation pourrait étre annulée ou minimisée si les dei
¢} The buib is a type of nonfinear resistance.

Uampoule se comporterait comme une résistance non linaire

ux empoules s’arronge en série

52. A molecule of 2n ideal gas exerts force on the wall of a container bacause the molecule experiences
Une molecule d'un gaz ideal exerce une force sur le bord &'un recipient parce que les molécules subissent
aj energy loss on impact [/ une perte d’énergie & o suite d'une coliision

b} diffuse reflection from the wall/ une reflection diffuse sur les bords du récipient

<] gravitational repuision at the wall/ une répulsion gravitationnelle sur ies bords

d} coulombs attraction at the wall / une attraction coutombe sur fe bord

e} achange in momentum on impact / ua changement en moment sur collision sur le bord du recipient

53. The net energy transferred as heat and a work to a closed nonflow system is equal to the change in/. Uenergie
nette transferee sous forme de chaleur et du travail dans un system statique clos est egale & un changement en aj
entropy/entropie b} enthalpy/enthalpie ¢} temperature/ température

d}internal energy /énergie interne e} volume/volume

54. If onie exactly doubles the speed of every molecule of gas in a given vessel, one would make i
5i la vitesse des molecules d'un gaz dans un récipient se double

a} the pressure twice as great/ lo pression se trouverait doublée

bj the density four times as great/ la densitd se trouveraft gquadruplée

c} the absolute temperature twice as great/ iw température absolue se trouverait doublée

d} the absolute temperature four times as great/ la température absolue s trouverait quadruplée

&) no change in the absolute temperature/ fa température absoiue resie inchangde

55. The expression dH =CdT is valid for a real substance if which of
C=specific heat, T=temperature) /
L'expression @ =CdT est valide pour une substance réel sifH=enthalpy; C=specific heat,
a} €=Cv and volume is constant/C=Cv et fe volume est constant
} C=Cv and pressire is constant /C=Cv el lo pression est constonte
£} C=CP and the volume is constant /C=CP et fe volume est constant
d] €=CP and internal energy is constant/ €=CP et 'énergie interne est constante
) C=CP and pressure is constant/ C=CP et fg pression est constonte

the following conditions are true? {H=enthaipy;

T=temperature)}

56. The valve on a bicycle tire is opeaed briefly, allowing air to escape to the surroundings. At the instant when

the valve is closed, the air remainingdn thetire is;/ Supposcis que la soupape de fa rove d'une bicyclette soit
tonément ouverte, lai: éch

Fair restant dans fa roue est

a) at the same temperature as the tire anddhe surrounding/ & la méme tempéroture que celle de Fenvironnement

b} cooler than the surroundings / plus frais que celle de Fenvirannement

¢} warmer than the surroundings/ plus chaud que celui de environnement

d} more humid than the surroundings/ plus humide que celui de Fenvironnement

e} more dense than it was originally/ plus dense gu'au départ

pper de Pair dans 'eavironnement, Au moment ou in soupape se ferme,

57. All of the following statements concerning thermodynamics are correct EXCEPT /Toutes les affirmations
thermodynamiques suivantes sont justes sauf
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energy equation in analyzing the process [ L'irréversibilité dans un systéme n’empéche pas Femploi d’une équation
du régime stationnel & fin d"analyser le processus.

b) A process in which the entropy remains constant must also be an adiabatic process

Un processus pour lequel Pentropie ne change pas doit aussi étre adiabotique

¢} The adiabatic mixing of two air streams initially at different temperatures is an irreversible process

Le mélange adiabatigue de deux flux d’air chacun & une température différente est un processus irreversible

d} The entropy of a completely isolated system may not decrease with the passage of time

L’entropie d’un systéme totalement iselé peut ne pas démunir avee du temps

e} It is possible to transfer ear from a low temperature heat reservoir to a high temperature heat

Reservoir./Le transfer de la chaleur d'un réservoir de chaleur & base température & un autre de haute température
est possible. V4

58. If the present tank shown in the diagram on the right must be modified to#”
i g . A Pressure =
double the flow rate through the discharge orifice, one can double; J
Quelle modification doit-on apporter pour doubler le flux d’écoulement a Forifice
du reservoirfvoir diagromme)?
a) the orifice diameter/ le diaméatre de Forifice
b} the orifice area / lo surface de Forifice
c} the press P above the liguid without changing the height h of the liguid
o pression, P, sur le liquide sans chaonger la houteur de celui-ci,
d} the height h of the liguid without changing the pressure P above the liguid
iah du liguide sons changer la pression sur celuf-ci
) both the pressure 2 above the liquid and the height h of the liquid ':_Orli b
La préssion sur le liguide et sa hauteur

£

59; The specific heat of concentratad orange juice is 3.8 KI /kg *C. How much heat must be removed te cooi 3.0 Kg of
juice from 30°C to 0.0°C? / La chaleur spécifique d’un concentré de fus d'orange est 3,8 Kifkg °C. Le refroidissement
de 3 kg de ce jus de 30°C & 0,0 °C va entrainer une perle en énergie égale &

ajzak b) 38k ¢} 150k d) 340 kt &) B0 Kj

60, Fick's first law of diffusion is analogous to Chm's law for electricity in that, / La premiére Loi de diffusion de Fick
est analogue & celie de Ohm sur ['éléctricité dans le sens que:
a) electrical potential is analogous to pressure drop/ le potentic! électrique est analogue & lo pression
b} diffusivity is analogous to viscosity/ fo difusibilité est anciogue & la viscosité
c} resistance is analogous to friction/ Ja résistance est analegue & la friction
d) concentration gradient is analogous to pressure/ le grodient de concentration est analogue & o pression
&) concentration gradient is analogous to electrical potential gradient
Le gradient de concentration est analogue au gradient de I'électricité potentielle

61.The amount of energy radiated per second by a black body whose absolute temparature is doubled is

Si lo température d'un corps noir 25t double, la radiation d'énergie par seconde & partir de ce corps sera

a) unchanged {inchangée} b} doubled {doubiée} ¢) increased by a factor of 8 {ougmentée par un facteur
de 8}  djincreased by a factor of 16*(augmentée par un facteur de 167}

e} increased by a factor of 32 {ougmentée par un facteur de 32}

62, A piece of iron with a volume of 0.001 cubic métre weighs 77 Newtons
in air. Itis supported by a thin wire and submerged in water contained in a
tank on a platform scale, as shown in the figure on the right. The scale
reading with the iron submerged in the water is most neariy/

LA :/Tz/‘-/ it

U morcecu de fer de volume 0,001 métre cube et de masse 77 N dons
Falr, suspend par un fer fin est immergé dans un recevoir d'ecu {voir
diagramme). Que sera fa lecture approximative surfo balonce ? a) 423
M b} 477N c)450N d)S5ION e)577 N

a) The presence of irreversibility within a system does not prevent the possible use of a steady flow WWW.tOUS| eSCOI’]COUI’&HRfQMer rod shown on the right is released from rest in the

horizontal position, it is attached to a frictionfess joint. What will be the 12 m )

angular velocity of the rod when it reaches the vertical position? {The Cx—'}{g
tik

amount of inertia of a rod of length f and mass m about an axis that is \

1
1
" normal to the rod at its center of mass is equal to mi/12). !
Une fine barre cylindrique attachée & un joint avec libre mouvement :
{voir dicgramme).Quelle sera sa vélocité angulaire lorsqu’elle est & la 4
position verticale ? {Le moment d’inertie d’une barre de longueur, |, et E
i
b

de masse , m, sur un axe & son centre égale mlz /12)

64. Bernoulli's equation is usually written as / L'équation de Bernuli est générallement écrit comme

2
{a) p — +Z = constant (b} o h;—é- +2Z = constant

Y2 v2
{c} ,_,_+2 constant (d) B X e constant
2q Pg 29

65. A homogenecus cylinder with a mass equal to 1 kg is rotating with 2
an angular velocity of 8 radians per second, as shown on the right. :
The constant frictional braking force, £, that must be applied to stop
the cylinder in 5 seconds is most nearly

Un cyiindre homogéne d'un 1kg roule avec une vélocité angulgire de
8 rodians par seconde {voir diagramme]. Quelle force approximative
de friction constante, F, sera nécessaire pour stopper le cylindre en 5
secondes ?

aj10MN bjEN cl4N d)16N e} 10N

66. A block with & mass of 100 kg is attached to a cable-pulley system,

as shown in the diagram on the right. If the coefficient of static friction

is 0.25, the magnitude of the minimum force P required to cause the

block te move up the incline is mast nearly/Un bioc de 100 kg est 1
atiaché un systéme poulie {vair diagram). Si le coefficient de friction

statique est 0,25, quelle sera lu force, P, approximative nécessaire

gour remanter le bloc ?

67. Anvagtomébile collides head-on with a concrete barrier. The auto has a mass of 1000 kg and is travelling at a speed
of 60 km/hUIf the auto comes to rest in 0.2 5, what is the average force exerted on the car by the concrete barrier?/Un
auvtomehbile de mass 1000kg roulant & une vitesse de 60 km/fi heurte un mur en béton et s’arrété en 0,2 S, Quelie
est ia force exercée por le mur sur Pautomobilfe?

ajs3x10*n  b)oax10*n, 3ox10®N  d)8s5x10°N e s0x10°N

68. When a vapor expands from a liquid-gas mixture of a gas through a throttling valve which of the following

properties decreases? / Au cours'deéchapy d’une vapeur & partir d’un mélange gaz-liquide d'un gaz @
iravers une soupape, lequel de cespropiiétés décroit?
al Entropy (Entropie} bj EnthalpyfEnthalpie]  c) Pressure {pression) d} Quality {Quolité) e} Specific

Volume {Volume spécifigue}

69. When a solid metal sphere is suspendediin a 25°C stream of air, the sphare cools from 40° C to 25 *Cin 20
seconds. Approximately how many seconds would it take to cool the sphere from 35°C to 30°C under the same
conditions? / Une boule metaliique suspendue dons un courant d’air & 25°C se refroidit de 40°C & 35°Cen 20
secondes. Combien de secondes approximatives peut-elle passer de 35°C & 30°C dans les mémes conditions ?
a)7 b)15 )20 dj23 e)33
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70. Hydraulic machines converts / Les machines hydrauliques convertissent
a) hydraulic energy to mechanical energy / I'énergie hydraulique en énergie mécanique . n%u STION 77-78 relste to the five incompl i 1k
: ete i
b) mechanical energy to hydraulic energy / I'energie mécanique en énergie hydraulique WWWtoug esconcours.| QUE;;'::;;: all of equal tapacitance, A b:tteryc;:cautlz:ﬂzt;fdh:ommpﬁsm of resistors R, all of equal resistance and
¢) mechanical energy to electrical energy /I'énergie mécanique en énergie électrique 27 & 28 concernent les cing circu complete any of the circuits i i
= 2 circuits i e s available,
d) both {a) and {b) / Les propositions (a) et {b) e) both (a) and (c} / Les propasitions (a) et (c) ;';"I ";"“‘L et des capaciteurs, C de mé:n m;;ac.f:;w{'::;! :af::::!:f;mme‘l comportant des Resistors, R, de meme
- Into which circuit should the bat : est disponible pour afj ;
g ery be conn ; menter les circuits.
71. A ball of mass m is suspended from two strings of unequal fength the greatest steady power dissipation?/ Que/ est f::;d to obtain W m
as shown in the diagram on the right. The tensions T1 and T2 in the Peut produire la plus grande Ppuissance stable unefmfwk i l r
strings must satisfy which of the following relations?/ Une balle de & la batterie, S connecté L [
Ty s — Ly —
mass, mf est s&{spend‘t..ie sur deux cordes ‘a‘e'l'ongueur ff[fereﬂtes Yy = . .
comme indiqué a droite. Quelle est ia réiation entre T1 et T2 7 s €1 circuit will retain stored energy if the battery is £
a)T1=T2 b)T1>TZ2 «¢)T1<T2  d)T1+T2=mg e} T1-T2=mg connected to it and then disconnected? K
Quel circuit peut accumuler la p.fu: :,:.,{de énergie sui “54 4 o ' '___
72. A parallel-plate capacitor is charged by connection to a battery. If th€battery is disconnected and the separation cannection et déconnection de fg batterie e sufte & une i ; 5
‘ﬁ I

between the plates is increased. What will happen to the charge on the eapacitor and the voltage across it?/ Un

capaciteur & ploque paraliéle est chargé par connexion & une baterie. Silabotterie est déconnecté et la distance
entre les plaques augmentée quel effet cela aura sur la charge dans la capacité ainsi que le voltage. Athermodynamic system is taken i
¢ A 3 from ar i ’

Path XYZX a5 shown In the e 1 an initial state X along the

a} Both remain fixed/Les deux restent fixes. b) Both increase/ Les deux eugmentent A8ram on the rioht ’
¢) Both decrease/ Les deux décroissent d) The charge increases and the voltage decreases/ La charge thermodynamigue & Fétat initial au point x! B lu",sy"feme r %
augmente et le voltage décroft &) The charge remains fixed and the voltage increases/ La charge reste fixe et le trojectoire XYZX (voir diagromme) PREA ok sur i |

. volage croit. 72. For the process XY, dUis greater tha n Zero and / Pour i
| . ) ) processus XY, dU supérieur & zero e e v ’
| 73. Which two arrangements of resistors shown on the right s an 2t zn @) Q<0 & W=0 b) Q<0 & W, =
have the same resistance between the terminals?/ v o N c) Q=0 & w<D el e el
| Quelles di; itions des rési: fwoir figure & gauche} 3. W e) Q<0 & w 9)Qe0 & Wep
l 5 >0
i’l ont la méme résistance entre les terminaux ? 2 an
a) 1&11 b} 18&IV v e 80. Forth ;
i T . i &zgi;cess Vs-;}z‘&%:;gési;zr than zero and / Pour e Processus ¥--32, @, est supérieur 3
| = ¢} W=0 J Perieur @ zero et
|. e) &1V i an l —|_._.$,.“,,r_i ) W08 U0 d)W>08 dU=0 e] >0 & duso
‘. 1 " 301!.:\»0 t:a.Pdcito.rs are connected in parallet as shown on the right. A
: :ae Vis applied to the pair, What s the ratio of charge 'S‘torlg.d\.
74. The electron volt is a measure of/ Que représente 'électron-volt? 0 the charge stored on €1, when C1=1.5C2/ Deux cq red on C2 C.
a)charge b) energy (énergie} c) impuise d) momentum &) velacity (vélocité) connectes en paralléle (voir figure & droite). Si fes dgjfc::el;m- i
current de voltage V, quell est le ratio de | s
’ ratio de lg ch 5 =
75. In the circuit shown in the diagram on the right, what is the A ¥ rapport & celle de C1; si C1=1,5¢2 'R stockée an C2 par -
value of the potential difference between points X and Y if the 6-volt 349 b)2/3 o1 d)3/2 €)9/4 C
battery has no internal resistance./ Quelle est lo valeur de la =
| différence potentiel entre les points X et Y, si ia batterle de six volt BV mr  Fel QUESTIONS 82 & 83
| n'e pas une résistance interne,
ajiv b2V c)av d) 4V e) 6V .
76. Alamp, a voltammeter V, an ammeter A, and a battery with ii
h=10m

zero internal resistance are connected as shown in the diagram on
the right. Connecting another lamp in parallel with the first lamp

as shown by the dashed lines would/ Une lampe, un iy
voltamétre,V, un ampéremétre A et une batterie avec une : i >
resistance interne de valeur zero sont connectés comme indigué A4 B e T 2kg Block
3 gauche. Connecter une autre lampe en paraliélle 3 la premiére [ A 2 kg block. starti )
comme indqué devrat lamp TTamn of 10mm a8 551313?“5 from rest, sfifes 26.m down a frictioniess inclined plane from X ¢ i
a) increase the ammeter reading/ augmenter Fampérage ; } durie hasitarie ve:; °:'e' Un bloc de'2 kg glisse de 20 m sur une surface inclinéemd 2 :r, dmpplng_ a vertical distance
b} decrease the ammeter reading/ décroitre Pampérage T cale de 10 m comme jifiists ci-dessus, Y point X au point ¥ et tombant
c) increase the voltmeter reading faugmenter le voitage 82. Th z

. The ma =

| d) decrease the voltmeter reading/ décroitre le voltage &8 Forva re g:i:udek o;‘the net force on the black while it is sliding is most neart /
) produce no change in either meter reading / alo.1 .Nur O¢ au cours de sa trojectoire est prés ge ¥
L b} 0.4N 25N H d)5.0N SR

avoir aucun effet sur les deux paramétres
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#3. The speed of the block at point ¥ is most nearly / La vitesse du bloc au point ¥ est prés de
a)7m/s b} 10m/s c} 14 m/s d) 20 m/s e} 100 m/s

84. Anideal monoatomic gas is compressed while its temperature is held constant. \I}f’hat happens to‘ the‘} internal
energy of the gas during this process, and why?/ §i un gaz monoatomique Idéal subit une con'firessmrl
te g te, que deviendra son énergie interne au cours du processus et pourguoi ¢
DErQIuUre c h :
a) It decreases because the gas does work on its surroundmg-s
Elle décroit parce que le gaz effectue du travoil sur son environnement
b) it decreases because the molecules of an ideal gas collide
Elle décroit parce que les molécules d‘un guz idéal entrent en collusion )
¢} it does not change because the internal energy of an ideal gas depends only on its temperatu[e
Elle ne change pas parce gue I'énergie interne d'un gaz idéal dépend ! fie sa temyg .utui;.'
d} It increases because work is done on the gas / Flle ougmente parce(@ue un travail est effectué sur le gaz
e} It increases because the maolecules travel a shorter path between\ collisions.
Efie décroit parce gue les molecules ont une courte trojectoire aprés collusion

85. In the pV diagram on the right, the initial state of a !;as is shown.at 9 »

point X. Which of the curves represents a process in which no wark is . ¢ /(‘

done on or by the gas? / ) E /,

Dans la courbe de pV P'état initiol d'un gaz est au point X. Qi:leﬂe i

courbe représente le processus ol oucun travail est effectué sur ou _.'{—,l,'u\\

p;r Ie gaz? M
a)Xa b)XB cjxC d}XD e) XE (,j il

QUESTIONS B6 -87 relates to the following circuit in which the battery has zero internal re_sistan:e;‘ ) / &
QUESTIONS 36 - 37 suivantes concernent ie disgramme ci-dessous dans lequel la batterie a une résistance interne

2éro
12V > =
1)
s 3 =
4;1‘.,: on _T.IUj.iF
= n;\,_i...._._h.,,.._]
680

26, What is the current In the &4 ohm resistor while the switch S Is open? / Quel sera le courent dans le resistar de d

ohm lorsque le switch § est ouvert? :
s0A b) 0.64 ¢ 1.2A d) 2.08 el 3.0A

87.\When the switch § is closed and the 10uF capacitor s fully charged what is the voltage across the capacitor ?/Quel

sera le voltage traversant fe copaciteur de 10uF pleinemant chargé forsque le switch est fermé? a0
v bi6V ci2v d} 60V e} 120V

88. The long parallel wires, separated by a distance d, carry equal currents | 1 l

towards the top of the page, as shown on the right. The magnetic field due to the

wires at a point halfway between them is ; ;

i, deux cables paralléles séperés par une distance, d, conduisent des courants S

égau, I, dans lo direction indiguée, le champ magnétique produit-en mi-chemin
entre les deux cables sera ?

d) zero in magnitude / de magnitude Zero

b) directed into the page / dirigé dans la page

¢} directed out of the page / dirigé hors de la page

d} directed to the right /dirigé vers ia droite

e} directed to the left/ dirigé vers la gauche

: experiment, light of a particular wavelength is incident on a metal surface, and electrons are emitted from
www .tousl esconcours;info

ace as a result. To produce more electrons per unit time but with less kinetic energy per electron, the

experimenter should do which of the following? / Dans une expérience la lumiére d'une longueur d’onde donnée
incident sur une surface métaliique, émet des électrons. Pour produire plus d’électrens par unité de temps avec
moins d'énergle cinétique par électron, on doit
a) Increase the intensity and decrease the wavelength of the light

Augmenter l'intensité et décroitre la longueur d'onde de la fumiére
b) Increase the intensity and the wavelength of the light/Augmenter Fintensité et la longueur d'onde de Jo lumiére
c) Decrease the intensity and the wavelength of the light/ Décroitre l'intensité et la longueur d’onde de lu lumiére
d) Decreases the intensity and increase the wavelength of the light

Décroitre Vintensité et aug la long d’onde de la lumiére
e] None of the above would produce the desired result/
Aucune des propositions ci-d ne produira le résultat désiré.

90. The wavelength of yellow sodium light in vacuum is 5.89 X 107 m. The speed of this light in glass with an index of
refraction of 1.5 is most nearly

Sila longueur d’onde de ia lumiére joune du sodium dans un vide est 5.89 X Iﬂlym, quelle sera la vitesse de cette’
lumiére dans une verre avec un indice de réfraction de 1.5 7

a)ax 107 m/s b)ox 107 m/s g2x10®mfs d)3x1o®mis e)ax108m/s

91. The Carnot cycle is correctly described as containing two / Le cycle de Carnot comprend deux processus
a) adiabatic and two constant volume processes/ adiabatigues et des vol constants

b} isothermal and two constant pressure processes/isothermigues el des pressions ¢ $

c}isothermal and twe isentropic processes /isothermig et isentropig

d} isentropic and two constant pressure processes / isentrapiques et des pressions constants

e) isentropic and two idiabatic processes/isentropigues et idiabatii

q

892, A compressor operates adiabatically on an ideal gas without frictional losses between pressure P1 and P2; The
work input per cycle is equal to the /A compresseur fonclicane vdigbaiiguement sur un gaz ideal sans friction entre
les pression P1 et P2. Le travail effectué ou cours de chagque cycle est egal au
a) change in internal energy of the gas/ changement en énergie interne du gaz
b} change in enthalpy of the gas/ chang t en enthalpie du gaz

c} change in Gibbs energy / différence en énergie de Gibbs

d} product f the volume and the change in pressure/ produit du voll et de chi
) heat transferred /chaleur transferte

g t en pression

93, Which, if any, of the following is an exampie of a throttling process?/Laquelle de ces propositions, si elle existe,
est un exemple d'un processus vibratoire?

a)(A reversibie adiabatic process/ Un processus adiabatique reversible

b) ARisothermal process / Un processus isothermal

¢} A constant volume process/ Un processus & volume constant

d) An isentropic process / un processus isentropigue

e} None of the above/ Aucune réponse est juste

94. If a mixture of air andwater vapor is cocled at constant volume condensation eventually occurs. Which of the
following statements about this process is NOT true?/ 5i un mélange d’gir et de vapeur d’eau & volume constant est
refroidi, une ¢ f ion s’en suit. Laquelie des affirmations suivantes relative & ce processus est fausse ?

a) Condensation occurs below the nermal dew-point termperature/

Lo condensation se passe en dessous du point normale de saturation

b) Condensation occurs when the specificvolume of the water vapor becomes equal to the saturation specific volume
/ La condensation se passe lorsque le volume spécifique de vapeur d’eau est égal au volume spécifigue de saturaticn
c) The partial pressure of the water vapour decreases during the cooling process/ Lo pression partielle de vapeur
d’eou diminue lors du processus de refroidissement.

d) The relative humidity decreases during the cooling process/

L’humidité relative diminue lors du processus de refroidissement
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¢} The temperature decreases during the cooling process/ ) )

Lo tempéraiure diminue lors du processus du refroidissement S e i BT S S e T

£ (mA) A . . TP

95. if the current into a capacitor is as shown on the right, what

charge is on the capacitor at =5 seconds? (Assume that the 100 i - R o]
charge at the t=0 seconds is zero)/ 57 dans un copaciteur le /[ ’

ceurant est comme indigué {voir diegramme). Que sera la charge 200 A

sur le capaciteur & t=5 secondes ? (Supposons que la charge at //

t=0 seconde est zero} 100 o~ —-—
a) 0.6 coulombs b} 1.0 coulombs ¢} 1.2 coulombs o«

d} 1.5 coulombs e} 2.4 coulombs ,o T2

96. In the general cycle shown in the diagram on the right, processes B i
I and D are both isentropic. tn which of the processes, if any, is heat g
added? [ Dans fe cycie général indiqué ci-contre les processus Bet D f
sont tous isentropiques. Dans fequel de ces processus, §'il existe, aura-t- 4 Ly
on une gugmentation d'énergie f (\;\ A
a) A only {A seulement) bl B only (B seulement) i X f&
c) both Aand B (A et 8} d} Both Cand D (Cet D} ¢
&) None of the above {Aucune des propositions est juste] L

CF s

_97. Water contained in a piston-cylinder assembly is initially at a temperature of 150°C and a pressure of 1

atmosphere, The water is slowly cocled at constant pressure to a final terperature of 25°C. Which of the foliowing

| phases and phase conditions are present during the process?

r? | Si Feau contenue dans un systéme piston-cylindre & une péroture et pression respecti t de 150°Cet Of
atmosphére est refroidie lentement & une pression constant & une température finale de 25°C, lesquelies de phases

et sont pré durant le processus ?
| Subcooled liquid/Liguide sur-refroidi 1l Saturated liquid/ Liguide saturé =
0l Saturated vapour/ Vapeur soturée IV Superheated vapour /Vapeur trés chaude
a} | &l only b}l & it only cjit&nionly  dj il &1V only eli, i, naw

#'

98. Which of the following is NOT a thermodynamic property of a system? /

Identifier fa propriété non th ofy ique parmi les propositi i s

a) Enthalpy /Entholpie  b) Entropy/Entropie ¢ Pressure/pression d) Heat/Chaleur
e} Temperature/Température

99. Ice melts when pressure is applied because /La glace se fond sous pression parce que :
a) pressure has the same effect as heat on such a solid/
La pression a le méme effet que lo chaleur sur la glace

It b) the heat of fusion of water is large/ La chaleur de fusion de 'eau est grande

[ £} the density of water is greatest at 4°C / La plus gronde densité de Feau est 6 4°C
d} water has a very large specific heat / L'eau a une trés grande chaleur specifique
e} water expands as it freezes [ Le volume d’eau augment lors de la congélation
100. At a certain temperature, the enthalpies of the saturated vapour and tha saturated liquid of a pure substance
are 1000 ki/Kg and 200 ki/kg, respectively. The enthalpy of a vapour-iquid mixture having a quality of 25% at this
temperature is [ 5 & une tempéroture donnée ies enthelpies de o vapeur et du liguide saturées d'une substance
pure sont respectivement 1000 ki/Kg et 200 kifkg, que sera I'enthalpie du mélange vapeur-liquide oyant une pureté
de 25% & cette température ?
a) 250 ki/kg b} 300 k/ke ¢} 400kifkg d) 750 kifkg e) 800k!/kg
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